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Al091-1, Fig. A4Wdd: Elemento D: anelli di LandoW-N; PSoperatorrgb/cmy0/w/000n
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diametro linea raster in Ipi

AI1090-3, Fig. A1Wdd: Elemento A: reticoli radialN-W, W-N, N-Z i W-Z; PSoperatorrgb/cmy0/w/000n
L*/Yimmettere 18,0/2,5 37,3/9,7 56,7/24,6 76,0/49,8 95,4/8REmin.) Wj (max.)

- - .

0,750

k—|*
W*=IGig ag, r
(relativo)

Winmettere0,000 0,250 0,500 1,000 Ng(min.) Wi (max.)

AI1090-5, Fig. A2W(d: Elemento B: 5 equidistanté grigio passi+ NO + W1, PSoperatorrgb/cmy0/w/000n

L*Yimmettere 18,0/2,5 23,1/3,8 28,3/55 33,4/7,7

[CLENEY]

N. e
codige Hex

% —| %
W*=ItieLpg, r
(relativo)
Winmettere0,000

0,067 0,133 (O2{0]0] 0,267 0,333 0,400

AI1090-7, Fig. ABWdd: Elemento C: 16 equidistanit® grigio passiPSoperatorrgb/cmy0/w/000n

Al091-3, Fig. ASWdd: Elemento E: Linea raster a%fo 13% gradi); PSoperatorrgb/cmy0/w/000n
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Al091-5, Fig. A6Wdd: Elemento F: Linea raster a®@ (P gradi); PSoperatorrgb/cmy0/w/000n
38,6/10,4 43,8/13,7 48,9/17,5 54,1/22,0 59,2/27,3 64,4/33,3 69,6/40,1 74,7/47,8 79,9/56,5 85,07/6631 9804238,5
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